
3 

91. Figure 1 shows the 'velocity-time' graph for a 	91. -.14 1, 	-) chi( * 4 47 Trriq' JAR) )1 c.t1 	I W11 

car. Is the car : 	 chit : 

Figure 1 	
50 

tt 25 

Time (hrs) 	 1 

7i I 
50 

"c--; 25 
0 

(1) Speeding up 

(2) Slowing down 

(3) Moving at constant speed 

(1)  

(2) NI* 

(3) -114-11.-4 ilk 	-qc-f tai e 

(4) Not moving (4) 

92. Sound will be of higher pitch when : 92. RI 	if IRN 	14 i1  

(1) amplitude of the sound wave increases (1) 'Lqf 	3-7714 -471 

(2) amplitude of the sound wave decreases (2) wfq .wr 3171R tra71* 

(3) frequency of the sound wave increases (3) 	airlft 	t 441* 

(4) frequency of the sound wave decreases (4) t4fff 	3TT-If7 lqat 

93. A Thermos flask has a plastic lid, glass walls 93. "tFtfeT 2TriR TFR:a5 T-i 	c1-11-1, 711t 

with silver lining and a seal. Which part of ITC-77;EF lirrf 	-ciicei 	Litcf 3 T 1 

the flask reduces heat loss by the method of 

radiation ? 

111-1 ch -FRE 	 ii 	d)u-if c1-0-11 

? 

(1) 	Plastic lid (1) 	-IfifitirW 	cravi 

(2) Seal (2) 0' 

(3) Silver lining (3) 	.ritc1- 	q(cf 

(4) Glass walls (4) 7 	tqR 

94. Which of the following waves cannot travel to us 

from the sun ? 

94. 77 151 cia 414 111.-f-7t ci4f TO 

Trt" TrWt ? 

(1) 	Light (1) t'ur 

(2) 	Ultraviolet (2) frTirrt 

(3) Infrared (3) 7Wits-t" 

(4) Sound (4) b7fi 
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95. Ramesh is using a pointed end of a screw-driver 

to lift the lid of a tin of paint as shown in figure 2. 

At which point will he need a minimum effort to 

lift the lid ? 

95. (4-ir 	 T+-Th ITP-r 	1 , 	fsti °ET 

1,=r)-f 7.731 7,7,T *, :;1(-11 rch Fr--41 2 -4 fcl§fF4T  	I 

f4)4.4 1-1-S ITT 3# 	.3d1.4 

1)(4111,::4 4■T : 

(1) Point A 

(2) Point B 

(3) Point C 

(4) Point D 

96. The time period of a "seconds" pendulum is : 

(1) 1 second 

(2) 2 seconds 

(3) 0.5 second 

(4) None of the above 

97. There is a delay of 0.5 seconds between the gun 

firing (by Ram) and its echo reaching him. How 

far has the soundwave travelled in this process ? 

The velocity of sound in air = 330 m/s : 

(1) f-4-• A 

(2) fF B 

(3) f-q-  C 

(4) fq3 D 

96. 'T*77E" rilo   31-q114 .* : 

(1) 1 *T*137 

(2) 2 #turf 

(3) 0.5 14-+'Ir .  

(4) 31:17)•wt if -4 ci-)1 151 

97. ■-biqFir chk4 *1-114 	-37:74serfWF t-14 	 

3tdu9 0.5 -41TTY, 	I ilk 	cif 	 ci 

330 illaTi47T 	AfWziT 	c1 ,1 f+791 

Figure 3 

GUN 
II 

RAM 

	 3 

(1) 82.5 m 
	

(1) 82.54-11d( 

(2) 165 m 
	

(2) 1654-11d 

3) 330 m 
	

(3) 3303-11d( 

(4) 247.5 m 
	

(4) 247.5 31st  



(1)  

100. Which of the following is an example of a short 	100. •9 qii,r2IY 	-1-4il rid vFt,-124 t ? 

circuit ? 

H 	 I I 	 
(1) 

5 

98. In the generation of hydro-electricity : 	 98. 	 cciic-i 14 : 

(1) Stored potential energy is finally converted 	(1) ft-2(rd7d 	1 f 	Icrf 	 

into electrical energy 

(2) Electrical energy is converted into chemical 	(2) fad 6.)zi , 	6)A 44 ,s4crt 

energy 

(3) Chemical energy is converted into electrical 	(3) (itiv.i let) d,s31 , f-d-g d) 	cic(1 zi 

energy 

(4) None of the above 
	

(4) 31Ter47 

99. In the given circuit what happens when bulb C is 	99. fT:I 	triTtrzi > ( fzi 	t 4) zrfc 	C 

fused (Figure 4) 
	 : 

A 

kr 4 

(1) r A 	 3frt c.K.G1 B 	 

(2) aic-diA 	zi if* wrest B 	iir 

(3) <4c..,4 A fit B 	-r 	 

(4) '4'" A 16 zi if I mr4 B9t 	 

(1) Bulb A will glow and bulb B will not glow 

(2) Bulb A will not glow and bulb B will glow 

(3) Both bulbs A and B will glow 

(4) Neither A will glow nor B will glow 

(5) I I 	 (2) 

_NW\ 	 

(6) (3) 

_AMA 	 

	I 
(7)  (4) 
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101. A girl of mass 30 kg jumps with a horizontal 

velocity of 5m/s on to a stationary cart with 

frictionless wheels. The mass of the cart is 2 kg. 

Assuming that there are no external forces acting 

in the horizontal direction, determine the final 

momentum of the system after the girl has 

jumped on the cart 

(1) 50 kg m/s 

(2) 150 kg m/s 

(3) 200 kg m/s 

(4) 250 kg m/s 

102. If still images of a moving object are flashed on 

the eye at the rate of 20 images/s, then the eye 

perceives this object as : 

Stationary 

Moving 

Sometimes stationary sometimes moving 

None of the above 

103. A metal is released in the electrolysis of a fused 

salt. It gets deposited on the : 

(1) Anode 

(2) Cathode 

(3) Half on the anode and half on the cathode 

(4) On the sides of the container 

104. In ferric 	chate, Fez  (SO4 )3, the valence of iron 

is . 

(1) Two 

(2) Three 

(3) Five 

(4) One  

101. 30 .k1JM 	1-)• -•4-4* 5 1i 	Of-d7 47 A 

41141 'TT 	f7Tk.  71171 Sritri (15d 

i ii I 	r •=441-1 -f 2 ff".71T1=1* i qI 	Tir9T 

.q7Zrwrr fc7rf la To-r 

	

10, 441*-  77 	471,;41 f 	)11f ? 

(1) 50 f- .7. 13-1Z7Rt 

(2) 150 fri.vt. 	1.8 

(3) 200 fm.vr. IT 

(4) 250 fw.m. 

102. i1is  /trod 	ft-21T mid 4,4 20 miciPp-q 

TiTt 3fti1 TrITT4 Trqff 6)crT 

31-Tul 	71-0- 	#T4T fq-dm ? 

(1) #27 

(2) -qirricf 

(3)  

(4) 317racI1 if A chl 	 

103 	fcrrT@T 	(-Nur 
	=410-r if 1 ,4-) 

Tro-  qrq 	 A' A f-*-A ITT ,,,hcS1 5'111 	: 

(1) 	 

(2) -4 2.4) 

(3) 3-Thft 	ITT 3,-Mft 	'TT 

(4) 	 f9ft T-R 

104. TOTT 	 F; (SO4)3  if (.1.1 	(441,1encii 	: 
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105. Which of the following is a physical change ? 

(1) 	Rotting of potatoes 

105. 19-Pi 

(1) 

-11 	f**i 	 61if 	: 

31-rTl1 

(2) Rusting of a nail (2)  *-1-F 11 *1 Mai-if 

(3)  Burning of sulphur (3) * (0.) T*-* 

(4) Melting of ice (4) i 110-11 

106. Which of the following is not a mixture ? 	 106. fiPf A 	fi:p3Tur la* : 

(1) Air 	 (1) ai 

(2) Sea water 	 (2) 711jt 41 

(3) Pure water 	 (3) 7Fg In* 

(4) Soil 	 (4) TT 

107. Which of the following is not a form of coal ? 	1071.,1 ** 4;04,4 •*-r 	 : 

(1) Peat 	 (1) *F. 

(2) Bituminous 	 (2) f 

(3) Anthracite 	 (3) R--grtzrr- 

(4) Asphalt 	 (4) t-i-t)K.-d 

108. The coating of which metal is applied on bicycle 	108. 74T-ifm--9* 'sri ztt 7#1.1 117 	1  s=171Tial McN 

handles and kitchen gas stoves to provide 	4)( * Fri F-1,1 -4 A 	Lltd (11I1 '1k-4* : 

strengthening : 

(1) Iron 	 (1) cl 

(2) Copper 	 (2) cliqr 

(3) Chromium, 	 (3) Wrizrli 

(4) Zinc 	 (4) f4m 

109. Which of the following elements possesses the 	109. f9-PT 	-1,1 A 4.-r zOcrrd--i 1;1 fwzrr Tem* : 
property of sublimation ? 

(1) Iron 

(2) Mercury 

(3) Nickel 

(4) Iodine 

110. Protium, deuterium and tritium are the isotopes 

of : 

(1) ci 

(2) -cfm 

(3) fif*9 

(4) 3TP:11 

110. 	TIT, FS 	la R,44-1 31.)7 trZT4TTITT-24-1F-9 	: 

(1) Oxygen 

(2) Helium 

(3) Titanium 

(4) Hydrogen 
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111. Which one of the following is a non-metal ? 	111. f911   3igrg ? 

(1) Zinc 	 (1) f-4-  

(2) Aluminium 	 (2) 34-1:11frzt9, 

(3) Iron 	 (3) 	 

(4) Nitrogen 	 (4) 	 

112. Metallic oxides are : 	 112. trig 3374S9774t : 

(1) Acidic 	 (1) aTLftzr 3r-Trff 

(2) Neutral 	 (2) 3--r-P1-9.  

(3) Basic 	 (3) Vrtrq -51-ttff 

(4) Either acidic or basic 	 (4) 31 	P,irttzr 

113. In the laboratory, oxygen is prepared from : 	113. Ng alqlicif 	31rq:41-49. 	 : 

(1) Potassium chlorate 	 (1) 	4.-v-14-Tftz 

(2) Water 	 (2) 4141 

(3) Ozone 	 (3) sftti A 

(4) Air 	 (4) gar 

114. Acid rain is caused by the oxides of : 	 114. 3-iitq awf "FT-FE 3-11-0TIT7* ehRuf 	 ? 

(1) Sulphur, Nitrogen 	 (1) Hc-Lbt, 

(2) Sulphur, Carbon 	 (2) 	 

(3) Carbon, Nitrogen 	 (3) 	Liq 

(4) Phosphorous, Carbon 	 (4) Li,i-41-r, 

115. Freshly released human egg has : 	 115. cimt 	Tri:( -147 3TErt 	? 

(1) One 'x' chromosome 	 (1) \len 'x' -Tcritp 

(2) One 'y' chromosome 	 (2) 	111770 

(3) Two 'x' chromosomes 	 (3) 	'x' 11-7Rp 

(4) One 'x' and 'y' chromosome 	 (4) \ler) 'x' 	'y' -TIRT1 

116. What role(s) does the cytoskeleton play in a 	116. ,11,71f-1-ff ch'INicbr 	 a-)1 	cir 	: 
living cell : 

(1) Maintaining the cell shape 	 (1)lFYimr f 3-7T-ft 7'r -q7P4 “A-If 

(2) Movement 	 (2) en 	Pichl 

(3) Contraction 	 (3) chlf-Ylchr 	r *-111T4-1 

(4) All of the above 	 (4) dLR act Tlift 
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117. Which of the following are able to fix nitrogen 

from the atmosphere to enrich the soil ? 

(1) Blue green algae 

(2) Green algae 

(3) Red algae 

(4) Brown algae 

118. An attenuated vaccine is composed of : 

(1) Killed organisms 

(2) Deactivated bacterial toxins 

(3) Living weakened micro-organisms 

(4) Purified macromolecules 

119. In vitro production of spores of which bacterium 

can be used as a biological weapon : 

(1) Bacillus thuringiensis 

(2) Bacillus anthracis 

(3) Bacillus subtilis 

(4) Bacillus cereus 

120. The system comprising the population of plant 

and animal species that live and interact in a 

given area at a particular time, together with the 

physical environment, is called the : 

(1) Socio economic system 

(2) Environmental microsome 

(3) Symbiotic world order 

(4) Ecosystem 

121. Which of the following is caused by a virus : 

(1) Malaria 

(2) Leprosy 

(3) Small pox 

(4) Tuberculosis  

117. aidicRur A .-11* 1,4-1• 	r fR-71-*-TuT 

dcitlqIrcki W4 4, 11,--r A A A-r ARO* ? 

(1) -11r1r qtr 

(2) 17T 

(3) rim *-41-0 

(4) i-pfrdr 

118. 07 (V) i447 t-Picsi 	: 

(1) 7:7 	 

(2) I-69n 	-A49 	 (RN) 

(3) A,kA zilcr 

(4) qjoa 7114 (cw) 

119.  	fq-RT r-1-1,4* 	 

	 A al-r-AT 	if-aw f2,47TR 	A0-1 

fWzrf tichdf ? 

(1) irTr-dTT 2TIT-1--49-FTR4 

(2) ir74-0747qii-Trg 

(3) AfTrd-F tlw1z 	 

(4) Afg-di:r ft:TM 

120. -9-trrrE (creff), fro -r-*7t 	aicimur 

fag 	 TT, trrA A-47 	Liisq 	Ala-A-q4 

aTrat Ara-Arq 	a tRka-R 91,1R1 

: 

(1) ffl4-ii Acb-3Tifft Trurr--  

(2) clicitcRui likTFAITU 

(3) t-it 	(iit-ri kch 	raf-2-4-r 

(4) trri-&-2Tr-ffw 

121. 	44 A A-f-Ar ATI faraul* cbRui trur ? 

(1) A-4A-rr 

(2)  

(3) 4-qw 

(4) t.t. (ffElf-) 
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122. Earthworms are important in soil fertility 

because : 

(1) They loosen the soil by turning 

(2) They aerate and mix the soil 

(3) They convert organic matter into rich humus 

(4) All of the above 

123. Pick the odd—one out : 

The eukaryotes differ from the prokaryotes in : 

Presence of well defined nucleus 

Having a multicelled body 

Having membrane bound organelles 

Having larger ribosomes 

124. In the production of wine by yeast, which of the 

following is not formed ? 

(1) Pyruvic acid 

(2) Ethanol 

(3) Carbondioxide 

(4) Acetyl coenzyme A 

125.Osmosis is : 

(1) The passage of water from an area of low 

solute concentration to high solute 

concentration through a semi-permeable 

membrane 

(2) Passage of water from an area of high solute 

concentration to a low solute concentration 

through a semi-permeable membrane 

(3) Movement of water from an area of high water 

potential to an area of low water potential 

(4) It is the net movement of solvent from more 

concentrated to less concentrated solution 

122. 	-774Thi (#1-0) 	6c44YIrqd 	qcit.:( Tf ifTfftlni 

4zeifT-  : 

(1) A fi:R:a 	 

(2) -4 	311-0#7977 

(3) A 	Tzirf4:1 	Lthcif-cici TT 

(4) dtit !chi TrifT 

123. fir (fi4R)  

	

t- f-(,-k,4 Tf 31 -2 	1 

(1) ithi-Tffq (2=1:11 :) 	7,1-F-T-24f-d* *RUT 

(2) 1.1-)Atchlq-4t-cfrif 	chior 

(3) *ic-ri gch-f 	co, uicm (7-1-afrr, 	*Rif 

(4) Gki 	 cbRut 

124. qH-e. (47) giu vrt-rq 30-11c-1 Tf , 'f- f Tf 	Tar -97:f 
-49-dT ? 

(1) ,-11\(411 311Tf 

(2)  

(3) 81 	3T142410 

(4) k-fe.lg'ci *1-1k--,7111-1 

125. “-ii<t) uf 	: 

(1) .1114 2-1Kcif 4r k rci 	 A 111 (31-N-w) Hl-Sint 

Ar   3ftT 	 A '01-- 2 

111-4 'TT Tgrq 

(2) 33R-4-ArrfA f71--,r A 	 r air1"1-1-7F1 

2=1 ch14 	k(1,4-f 	 331z41-41 	-q6101 

(3) 3Tf 	sslci9TfMT 1';fiq A *44 ,1mMfcc11.?„fiq 

31"R 	Ag-rA 

(4) lay 31f9-TeT 	01(1q-1 u 1114 Arr---d 	4c1-1 rTC1 

3t12 ric-11,-111q7 ,1151c1* 
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126. Which of the following is in descending order : 	126. 	(-1 tqcr -14' 	ent-ictir tid T=T 	: 

(1)  

(2)  

(3)  

(4)  

0.600606, 0.6, 

0.6, 66%, 71: , 

0.6, 

, 

66%, -3 
11 13 

0.600606, 0.6 

0.
e
, 0.600606 

0.600606, 0.6 

0.6,
.3 

66%, , 
9 

, 
12 

7.3 RR% 7'9  

13 

, 0.6, 
712-  ' 	13  

(1) 0.600606, 0.6, 0.666°/ 7.9  
12 

66%, 
 13 

(2) 0.6, 66%, 7.3  7.9 12 13 0.600606, 0.6 

—
7.3

, 66%, 
.9 

-7--, 0.6, 0.600606 
12 13 

(4) 7
2  
.3  66%,=3 . 0.6, 0.600606, 0.6 

13 

(3) 0.6, 

127. The value of (-18) + (-6) x 2 - [(-4) x (- 3)-6 	127. (-18) + (-6) x 2 - [(- 4) x (- 3)-6 {3 - (7 - 9)}) 

{3 - (7 - 9)}) is :  	: 

(1) 2 (1) 2 

(2) - 62 (2)  - 62 

(3)  -12 (3) -12 

(4) -120 (4) -120 

1
2 128. If 

2 	1 
= 11, then which of the following is 	128. q x

2 
— x =11 	(5cf 1414 wrr  	: 

true : 

(1) The values of x satisfying the above equation 	(1) 'x' * Tft PM 	si,-1( i ti41ci 	kui 	4,4 

are all rational. 	 -1#7-14-7 44,,414 

(2) Only half the values of x satisfying the above 	(2) 'x' 	*-49 31-0 TrF, 4r -cR-1-4Tr 

equation are rational. 	 4q 	ttf7-347-4 

(3) No value of x satisfying the above equation 	(3) 'x' * 	Trri, 	-14-11.1.).or 74 Tf-4-w 

is rational. 	 *, rift* 4(sqr 16'1" 

(4) Only one value of x satisfying the above 

equation is rational. 

129. The product : (1 - y2)(1 - y + y2)(1 + y + y2) is 
equal to : 

(1) 1 + 	+ y6  

(2) 1 + y6  

(3) 1 + y3  + y6  

(4) 1 - y6  

129. 

(4) 'x' Tr 1c isch Trm, chut 

f-Am*, 71747 

: (1 - y2)(1 

1 + 	+ y6  

1 + y6  

1 + y3  + y6  

1 - y6 

I 

ju1-1 

(1)  

(2)  

(3)  

(4)  

- y + y2)(1 + y + y2) : 
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130. 25% of 50% of 4 )̀/0 of 11°/0 of x is 0.011. Then x 

is : 

(2) 25 

(3) 20 

(4) 5 

131. In a dance class of 12 students, one of them 

who is 15 years old leaves the class and a new 

student is admitted. This change increases the 

average age of the class by 3 months. Then age 

of the new student is : 

130. qR'x'til%w4 (Y0 wr 50% 	25%, 0.011 %, 

'x' 	11-19* 	: 

(1) 11 

(2) 25 

(3) 20 

(4) 5 

131. -) 	1c4.4 1,711+4 12 fq-012.11 f, 1 15 citiTh 

fITI1'2,11 a1 *11-if d I g 3117 	ch 	itar f9T11?-1.1 

?;(-4-qT c1c11 	I 	tcI -1 *. *Rut "WMT 	3T1{1 i 

3Tra 	4-1-614 	1 	q11c11 	I fit 

31-Pi * 

(1) 16 years 	 (1) 16 51-  

(2) 17 years 	 (2) 17 

(3) 18 years 	 (3) 18'44 

(4) 20 years 	 (4) 20 al 

132. 	Which of the terms 2i, 31, 68, 1c) -ilf 	is the 	132. 

largest : 

t-i(9e413# 21, 	68, 1011214 -4TI41 	i-ftsqr 

% ? 

(1) 21 (1) 21 

(2) 3' (2)  3" 

(3)  68  (3) 68  

(4) 10•Ii  (4) 1002  

133. The milk and water ratio in 16 litre mixture is 

5 : 3. The amount of milk to be added to make 

the ratio 2 : 1 is : 

(1) 2 litre 

(2) 3 litre 

(3) 4 litre 

(4) 5 litre  

133 16 	 fl:T&TIT 	fR 	31Thi1d 5 : 3 

- Tr14 TT 011 	f+--fft 4-1111 	,31141- 	f- z14 

3iff 2 : 1 	z)- 	: 

(1) 2 	 

(2) 3 Cl 	d( 

(3) 4 -1-a-t 

(4) 5 ci 	 
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134. A man sold two almirahs for Rs. 1980 each. On 

one he gained 10% while on the other he lost 

10%. In the bargain, he : 

.(1) gained 2% 

(2) lost 1% 

(3) lost 2% 

(4) there was no loss or gain 

135. A dealer allows 15% discount on his goods and 

1 
still gains 6-4% . If cost price of a pen is Rs. 80, 

its marked price is : 

(1) Rs. 100 

(2) Rs. 92 

(3) Rs. 85 

(4) Rs. 97 

136. If p persons working p hours a day for each of 

the p days produce p units of work, then the 

units of work produced by q persons working q 

hours a day for each of the q days is : 

134. •crw TfTi?f t 31r111t 1980 to-i Afff 

cla41 134 .7w 31-61:114 Tr{ 0%114 -VII 311T 

I 10% -4• $114 -# 	tit ti) 	: 

(1) 2% 31-t 

(2) 1% 	siFr 

(3) 2% '4' 	 

(4) "i ch)i 	-E311 	sift 

	

135. 	schi-Kik 317-4 -i14-11.-r TR 15%   tdT 	3T)7 

fit a 6-
4
%<IR 	 

Is-,4 80 t-14*, t3N fffrUU Tr )411 : 

(1) 100 to-ii 

(2) 92 rol 

(3) 85 to-1 

(4) 97 t-i 

	

136. ifsp311 	p74 -5rf-dr-ci 	wtt, p 	p 

c*-r 4)14 tux 	q 3171:1/ 7r-drci q 1.14 01114 

wt•-  q ic-11* 	 ehig 	en01 ? 

3 
q

3 

(1) 	—2-  
P 

(1) pz 

2 

(2) 

2 

(2) 

n2 
(3) 

P3  

(3) 

n3 
(4) -7 (4) qz 

137. Which of the following does not divide 58 - 34 : 137. 7rIT 58 - 34  fad wTth : 

(1) 	317 (1) 317 

(2) 	13 (2)  13 

(3) 11 (3) 11 

(4) 	7 (4) 7 



is : 
1  

1 
138. The value of 

1+ 	 

1+ 

138. WTI ITT:7 	
1 

1 
1 	

1 

14 

(1)  

(2)  

(3)  

(4)  

(1)  

(2)  

(3)  

(4)  

2 

1 
 

+ 

2 

+1 

2 

,/§ - 1 

2 

-1 

2 

+ 1 \/ 

2 

+ 1 

2 2 

139. The speed of the boat in still water is 10 km/hr. It 

can travel 26 km downstream and 14 km 

upstream in the same time. The speed of the 

stream is : 

(1) 4 km/hr 

(2) 4.5 km/hr 

(3) 5 km/hr 

(4) 3 km/hr 

140. The difference between the obtuse angle and one 

of the acute angles of a triangle is 20°. The 

difference between the two acute angles of the 

triangle is 56°. Which of the following is one of 

the two acute angles : 

139. Ylicr ssirf 	-1Ici 	cf 10 oh.1:11 wrcf '42T 	I 

T-14-14 	NITT '-‘1 .51-417- 	T:1124 26 rch.lt. 41.  

4-Tt 	I 3c1:t e1 T:1144 14 01 -1.P.1 	fd-critff 14 

9-Ri l Trqrg-  5Thr : 

(1) 4 f=F:t./if 

(2) 4.5 rch.t.ttidt 

(3) 5 fw:ItitrEr 

(4) 3 rch.t.ti 

140. 	-) "Nlj7 	3TFq4-4-1uf AT 	 -Tf of r 	31- T 

20° 	i:rt 	-zhruff r 3-1--T 56° 

A' A 	.9--FIT dN4-1 	 TiTT1 ? 

(1) 12° (1) 12° 

(2) 16° (2)  16° 

(3)  22° (3) 22° 

(4) 18° (4) 18° 

141. Which of the following statements is true ? 

(1) orthocentre of obtuse angle triangle lies 

inside the triangle. 

(2) orthocentre of obtuse angle triangle lies 

outside the triangle. 

(3) orthocentre of a right angle triangle lies on 

its hypotenuse. 

(4) orthocentre of an acute angle triangle lies 

outside the triangle. 

141. f-i4-1R-ict 	-14 A ch 	 ? 

(1) 	 31M--+-0-7fT11-7 r711 fq3fqii-7 

fry 5)iir 

(2) 	 ,:h■ 3-FTh4-4--17 	 ql5T 

fT-2M e101 I 

(3) ka-> 	 t-14-ichlur fw4I-7 	fq3 fq917 	fa -t-11 

#2.Tu 1,11 I 

(4) 	f:1) 	fad 	7PEr f-q3 fq31-7 	qw{ 

fT-9-TU 4If I 
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142. Two concentric circles have radii 5 cm and 13 

cm. Through a point A of the larger circle, a 

tangent is drawn to the smaller circle to touch it 

at B meeting the larger circle again at C. Length 

of AC is : 

(1) 10 cm 

(2) 26 cm 

(3) 18 cm 

(4) 24 cm  

142. "cl fT,  5 :It 3-1i7 13 A.t. 

B tri t-40. 	72-11 	 Rin 	( C TI{ 

#T7t* 	tur AC wc-411 	: 

(1) 10 -At. 

(2) 26 *LI:ft . 

(3) 1874.1t. 

(4) 24 A. 

143. In the following figure CB = CA = AD and 

L DAE = 75°. The value of y is : 

143. f9-Pi 

y 

3irtt 14 CB = CA = AD 3 T z DAE = 75' 

-guff 	: 

(1) 45° (1) 45° 

(2) 50° (2)  50° 

(3)  60° (3) 60° 

(4) 37.5° (4) 37.5° 

B 
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144. In the following figure, ABCD is a square of side 

5 cm each. The sides AB and BC are produced 

to P and Q respectively such that BP = 1 cm = 

CQ. Which of the following is true ? 

(1) AP = AQ 

(2) DP = BQ 

(3) DP = AP 

(4) A DAP = A ABQ  

144. 	Trt: 	ABCD 	•44 t, 	TA 5 

14.t. 	AB BC shi-IY1: P Q cich q71 

BP = 1 	= COI 	F-14-11C1PAci Ti A 

(-1,44 	3f-Ta 	: 

(1) AP = AQ 

(2) DP = BQ 

(3) DP = AP 

(4) A DAP A ABQ 

B 	P A 
	

5 cm 

5 cm 

145. The surface area of the sphere is 400 sq. m. The 

sphere is cut into two halves. The total surface 

area of one of the halves is : 

(1) 200 sq. m. 

(2) 300 sq. m. 

(3) 400 sq. m. 

(4) 350 sq. m. 

146. A Neolithic site in Kashmir with pit dwellings : 

(1) Mehrgarh 

(2) Burzahom 

(3) Chirand 

(4) Koldihwa 

147. An important Chalukyan Capital & Trading 

Centre : 

(1) Aihale 

(2) Kanchipuram 

(3) Kanauj 

(4) Thanesar  

145. t-a-) 1:17i-174Z 	400 art 	I 	(-14).( 

Wtlat feR:if if *Id fq-ar ,tior 	I so-i-ich fI 	r 4r1 

Tata 4TT 51iir : 

(1) 200 aif 

(2) 300 aTf 

(3) 400 Ti 

(4) 350 7ffit. 

146. -wq1:1-17 fT-2.Th• 	 ,116 	fi-dF4 T-49 	: 

(1) 14-e-rfq 

(2) 1T7TOr-is  

(3) f -• 

(4) ch 	csir 

147. •=41qTil 	Trawt a Trg---Tcrf   : 
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148. frt T7117 	• TIT a,6 	? 

(1) rkTgi 

(2) VITOT 

(3) 	 

(4) 7TMT 

149. 31 R 	771 #2.17 ri 	Mil -I chIcla.14.   

wl 37*-ft cb(ci 	: 

(1) f-c-c4rir 

(2) ycn( 

(3) T§raT 

(4) 'ff-izb" 

150. riii14 m) 	-1-41 tvc,  ^I1 inn 	f7R-1T7"e* : 

148. Land of non-Brahman Peasants were known as : 

(1) Devdana 

(2) Brahmadeya 

(3) Vellanvagai 

(4) Shala bhoga 

149. A lake near Ajmer that attracted pilgrims since 

ancient times : 

(1) Didwana 

(2) Pushkara 

(3) Sukhana 

(4) Nakki 

150. Which of the ideas below is not the teaching of 

Guru Nanak 

(1) Namjapna 

(2) Warship of one lord 

(3) Social commitment 

(4) Holy Law of Shariat 

151. Which of the following was a garrison town 

constructed by Sultan Alauddin Khilji : 

(1) Delhi-i-Kunha 

(2) Siri 

(3) Jahanpanah 

(4) Kilokhari 

152. Vasco da Gama was : 

(1) Portugese sailor 

(2) Dutch sailor 

(3) French sailor 

(4) English sailor 

153. Who was the Revenue Minister of Akbar ? 

(1) Bharmal 

(2) Todor Mal 

(3) Man Singh 

(4) Raja Jai Singh 

S148 FACT/10—SAT-2A 

(1) 114- ,1411 

(2) 7-*" dear 'W1 IT Ralq(citc] 

(3) kcHif-Act) rzpcia 

(4) 71ftzrff 

151. ils-f1r1fiti 	3rff 	fi51971 

-1-91 	19-14h fch,IT 91T : 

(1) k6c1 	c12,-1 

(2) 	 

(3) ,31614-11 

(4) 	 

152 114-111-3f TTMT ch -r 2T1 : 

(1) T47c41 9TN-T 

(2) -Td 

(3) Se7 .9-rf-aw 

(4) 3 

	

153. -1-11(1 ilcr 14 	ail 	t 3TTW    	? 

(1) 1-11.71M 

(2) d)si Tr9 

(3) 171i 	 

(4) (ismi 774 (15 
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154. What did the Gonds [tribe] practice ? 	 154. T?tU [W-41] 77t cbt q:( 	? 

(1) Hunting-gathering 	 (1) f7TWR-4,1164) 

(2) Trading 	 (2) 041114R 

(3) Shifting cultivation 	 (3) TRIriq 	 

(4) Weaving 	 (4) 40-isi 

155. The sixteenth century religious ferment in 	155. ti ci51' • VT4T 1 T. 	47F4 fd1:14 : 

Europe ? 

(1) Reformation 

(2) Renaissance 

(3) Counter-Reformation 

(4) Absalutism 

156. Who persuaded Mahatma Gandhi to allow women 

in 'Salt Satyagraha' ? 

(1) Ambabai 

(2) Mira Behn 

(3) Sarojni Naidu 

(4) Kasturba Gandhi 	 (4) cbt-ItifTriit 

(1) .P4111  ( R,-1,14.4q14) 

(2) 7: Amur (ftkART) 

(3) ehr,i-e,(-1(4,14Ayi-f (414--Tri7 rci()1ft) 

(4) 	 

156. f-*-74-4 4-16ici-if *71 T -tufa, Hc1i1W it fFT--ft 

44-1 r:icf 6l4.t -f- 9.17-RTf-g-d ft -7u ? 

(1) 311zif 

(2) i-41 

(3) TIT174/ 7r7i 

157. "Behind The five year plan lies the conception of 

India's Unity", was said by : 

(1) Jawahar Lai Nehru 

(2) Vallabhbhai Patel 

(3) Dr. B.R. Ambedkar  

157. "Trf 1414 711--4-4i *11-1--4 14R-th-zr wdr 	3TRITT i" 

Tr-6 f-*-A4 a.)r ETr : 

(1) 3i116( riIM .16(% 

(2)  

(3) T. 41.31TT. 3T14- 7 

(4) Mahatma Gandhi 	 (4) 1-161(- -11 Trilt 

158. Which of the following two gases form the bulk 	158. 1F--1 if A 4.-F-Tft T 11-TI 	31-1,-4-  Hilt u 111 

of atmosphere ? 	 ? 

(1) Carbondioxide and Oxygen 	 (1) 9- 	std-31T0 74 3TFITTI-Ti 

(2) Nitrogen and Oxygen 

(3) Ozone and Nitrogen 

(4) Carbondioxide & Nitrogen 

159. Sal, Teak, Neem and Sheesham are hardwood 

trees found in : 

(1) Tropical Deciduous forests 

(2) Tropical Evergreen forests 

(3) Temperate Deciduous forests 

(4) Temperate Evergreen forests  

(2) ,3-11,441.1-t 

(3) ii64 s5t-f 

(4) W49-si--3T1-44:1TO- 

159. 	 1241 VIITET ,14 	mm 

	

trR Ai(1 	? 

(1) dwr 

(2) dbui wiz-4'417 tK1,146i4, -49 

(3) 711-4t37 	iviLnrit -q7 

(4) -*-4137 	-KmR 9 

S/48 FACT/10—SAT---2B 
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160. Which one of the following gas causes Acid 

Rain ? 

(1) Carbon dioxide 

(2) Sulphur dioxide 

(3) Oxygen 

(4) Argon 

161. EL Nino is : 

(1) An Ocean current 

(2) A Tropical Cyclone 

(3) A periodic increase in the temperature of 

Eastern Pacific Ocean 

(4) None of the above 

162. In which state of India is Majuli, the largest river 

island of the world located ? 

(1) West Bengal 

(2) Assam 

(3) Bihar 

(4) Orissa  

160. i-rifc-ificr 	ctrl-T11 fRzi 3T .47t 'Wf chRch 	? 

	

(4) 3717)-4ff Ti A 	151 

162. ITIT 	14)ATria 	f  

ft-2m ? 

(1) 4141144 	 

(2) 31147 

(3) 'NTT 

(4) #741 

163. The Transform boundary is formed : 

(1) When plates move towards each others 

163. 	fi'llcR 4 kfl 

(1) 7q *a 

HI 'WI f91d17 s lay 	: 

7w5‘ti *Tu.-4 3Trt 

(2) When plates move away from each others (2)  74 ,c4 .7w s:H7t A 7 Aill* 

(3) When plates move horizontally past each (3) T if-4 *RN 4F-d7 Vifif Trf-d*-7th 

others 

(4) When one plate slides under the other (4) 74* • 	v;:ir Lc.)z* -4-4 	ztlrft 

164. Which of the following characteristics represent 
	

164.  	A c1-t-   	1-11Tff 	-- F-11-1 

the age-sex pyramid of India : 
	 Liti +-IS W641* : 

(1) Broad base and rapidly narrow at the top 
	

(1) 1,51 3-1P-TR 74 314,. 	37x4 ?ftqui A (-1,4,41 

(2) Broad in younger age groups and narrow at 
	

(2) TT -Trf 	sr 	d--R 	31.17 wlt! 

the top 

(3) Narrow at base, broad in the middle and 
	

(3) VitiTT 117 ticmi 	INT-1-4 	d.04( 

narrow at the top 

(4) Narrow at base and broad at the top 	 (4) 311$17 TIT 4-14,0 74 6144( 	3-f17t 
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165. Information technology, wellness, hospitality and 	165. TO-ir 	 J:4,-.4114.7zIT 

knowledge fall under which category of 	36ir fm4 Tr wr4 7T- * : 

Industries : 

(1) Heavy Industries 	 (1) 1-1Tft d 	'1 

(2) Private Sector Industries 	 (2) 1-1,11 3h 

(3) Joint Sector Industries 	 (3) TtzpRi 	.3swi 

(4) Sunrise Industries 	 (4) 	 dcq 	tci 7 3dm 

166. What is the cultivation of Grapes known as 	166. iii 	cii TEIT cbgditil ? 

(1) Pisciculture 	 (1) 44.-1 ctvri 	( 

(2) Sericulture 	 (2) tat1 	ic- it 

(3) Horticulture 	 (3) 51dichc-It 

(4) Viticulture 	 (4) 11,Eichr.'-r44, 	

167. 'Golden Fibre' refers to : 	 167. chq 4,k-K4 

(1) Tea 	 (1) 74171 

((23)) 7,4144  (2) Jute 

(3) Cotton 

(4) Coffee 	 (4) cnit -t 

168. Mulching, contains barriers, Inter cropping and 	168. TT 11111, •11-11,17.1 {(111 	 WTTF;1 

terrace farming are methods of : 	 .t'11-it 74 A.  fr,-*1 4114, 4,4 1=t4Ttri 	4,ifirff TiTyini 

41,4 % ? 

(1) Land conservation 	 (1) 3:6-ri 

(2) Water conservation 	 (2) Act 

(3) Soil conservation 	 (3) 71  

(4) Forest Conservation 	 (4) 9 

169. The continents of North America and South 	169 d7R 	tc11117:4t3ipi 31-11 ,-E1 i 3115 t a1Mt T-9-11r-11,0,1 

America are linked by : 	 T-Tr 	? 

(1) An Isthmus 	 (1) "P-174.4"N 

(2) A Strait 	 (2) 5fi1 

(3) A Canal 	 (3) -iii 

(4) A Peninsula 	 (4) •51707  

170. Untouchability has been abolished under the 	170. 4.4 INT9 	4rArt A-(-4!), 

following article of the Constitution : 	 3i 47? 111 5e.1,-{f 1177 % : 

(1) 	Art. 14 (1) 3-171.-9‹  	14 

(2) 	Art. 15 (2) 76-T17-3, 7s 15 

(3) 	Art. 16 (3) 34V:K 16 

(4) 	Art. 17 (4) ,1T 
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171. Which of the following is not a Fundamental 	171. -mrofiqd 3TRT*R1 	 3Tfv*R Tom* 

Right : 	 3Ttl1TTT 	: 

(1) Right to Equality 

(2) Right to Freedom 

(3) Right to Work 

(4) Right to Education 

172. Which of the following can make laws on subjects 

mentioned in Concurrent List of Indian 

Constitution : 

(1) State Assembly 

(2) Panchayat 

(3) Parliament of India 

(4) State Assembly and Parliament of India  

(1) wilicit -TT 3ifirffiTT 

(2) -.1ci1cif 'TT aftmrt 

(3) aqiiii( it 31DWi 

(4) f4PATT 	3IftrWri 

172. i-14-iiorigd 	chl-r 7:17-4-d17211* ar-rrra fwif 

tieracir 	: 

(1) 74Z 	if 	TI 

(2) 4.1Iqcf 

(3) i-Trtaq titic 

(4) TMT f41.19 TNT 3ftT 

173 Who succeded Dr Rajendra Prasad as President 	173. F-14-ircifi2Jc-t 	7f. ti 	 

of India : 	 4iNvici 1,1-f 	: 

(1) Dr Zakir Hussain . 	 (1) 71-, 7Tr*T. 	 

(2) Dr. S. Radhakrishnan 	 (2) 3i. 

(3) Dr. N. Sanjeeva Reddy 	 (3) sT. 414 

(4) Dr. V. V. Giri 	 (4) "gi. 

174. Which of the following National Political Parties 

was formed before Independence 

174. 	4.5cf col if it  	cm" 	i *I -31;4 

1,441c-if *74 "piT : 

(1) Jansangh 	 (1) .s1-1•4 

(2) Swatantra Party 	 (2) (-11479 

(3) Communist Party of India 	 (3) I-17-47:1 t-(11.4111.:1 

(4) All of the above 	 (4) mfr 7,9 

175. Chipko Movement is related to : 175. -14-1 	qc-f if it 1::14-if fTrT74*' TIM f7:1*1 	 

if4"--1* 

(1) Wildlife Protection of India 

(2) Stopping of cutting of trees 

(3) Narmada Dam 

(4) Tehri Dam 
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176. The Indian Constitution is based on the following 

features : 

(a) Federalism 

(b) Self Government 

(c) Distribution of Powers 

(d) Blend of rigidity and flexibility 

(1) a, b, c, d 

(2) a, b, c 

(3) a, b, d 

(4) a & b 

177. Which of the following Fundamental Rights will 

get violated 

LIST I 	 LIST II 

(1) If a 10 years old 	A. Right to Equality 

Child is working in 

a Tea Stall 

176. %Tito 	q trfa¢ 	f-11--1Frlf(ci fa t Isrm3TY irT 	 : 

(1) 31-77 Tcil 	HIM TT A. 	 31fT,1*1 

(1,S1,4-4 al 

cht 

(2) if a leader of one 

State does not 

allow labourer 

from other States 

to work in his State 

B. Right to Freedom (2) .W7 uikffr  	B 

71-'t 

3-17 sTfl:TTI T1  4 	1+4 

	

(3) If a group are not 	C. Right against 

	

given permission 	Exploitation 

to open Telegu 

Medium School in 

Gujarat 

(3)  	Tt 	C. .tngur 	fcR,4; 

Tilt'. 	 3TNTTT 

TriW4 	4,14 

tt .3-17113t 7 fT.F. 

(4) If the Government D. Cultural and 

decides not to 	Educational 

promote an officer 	Rights 

in force because 

she is a woman 

A C D 

(a) 1 2 3 4 

(b) 4 1 2 3 

(c) 4 2 1 3 

(d) 2 3 4 1 

(4) WT T irT-#1 trf-FT 
	

D 	 

Ho-a 4S-Hr 
	

thur i 5Tf7-11-0 

(a)  

(b)  

(c)  

(d)  

A 

1 

4 

4 

2 

B 

2 

1 

2 

3 

C 

3 

2 

4 

D 

4 

3 

3 

1 
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178. By the 71st Amendment Act, 1992 which of the 

following language was not included in the 

Constitution of India : 

(1) Konkani 

(2) Sindhi 

(3) Manipuri 

178. 71aT 4:t4qi 34Niz0:1, 1992 	3tdita 11,—ifoitqct 11 
	 fair 7P-41 14 	 arm 	41c4tTF 

9-11 : 

(1) *twrift 

(2) fly 

(3) lcifuTlit 

(4) Nepali (4) -41:1T-0/ 

179. The number of nominated members in both the 179. c)1) flc1.14 1491-4U 747:Z74 kL1ts.,41* : 

Houses of Parliament is : 

(1) 	10 (1) 10 

(2) 	12 (2)  12 

(3) 14 (3) 14 

(4) 20 (4) 20 

180. In the Constitution Right to Education has been 

put under : 

(1) Art. 14 

(2) Art. 20 

(3) Art. 21 

(4) Art. 21A 

	

180. fvtur* 3Tft-MIK 	4 atu-ff fanN 

mar err : 

(1) 3T-1 	14 

(2) 3T-14c 20 

(3) aTIQg 21 

(4) 31-1Q-c 2IA 
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